A Fl 2 1B =
{(H— /)
STTE1A14B AHLL(EBE)
e e . 5 SHTETATIA
TEEHE/R STEET FERTHN TH = SITE3A2TH
wx ?ﬁ%ﬁgﬁ%ﬁ % 23,518,000 Mtk
T v mE = 4= s - =
Igi‘mﬁﬁFqE{T*%%%EE7K%¥EEQEI$ 1% Igll %iéﬁ'tfxglj_ ﬁ 2‘]’ 380’ 000 Fq.m
%‘%g”‘f;;ﬁ*ﬁ % 19,343,000 Mt
R A KR % 18 o [E28 o [FoE g |F Bgp|E Bk M OB | R E | B OB
3 e e e e e e A[EERE R O s BT
B H H R 21. 200
KERMEE &H FliFE
BIEFH R 21 380
KREREESE FH 2
250
=l 21 300
KREREUEE B AEF
WRRER 20, 700 RE 22,770, 000 2,070, 000
REREEE XTF NE
MEFRMBEIE 21,380
KERMER EF E£HE
MHEEILHIE 21 250
RERIFE HE BE
BEZMEIFR 21 350
KEIRIEER KE BB




